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& £ OE £ (OUVEILAFiITE L)
Tom | m oW | B - b e o & W
\‘i §
%{%?&m = 1.0
OOET TR URER
FEAT BLS IO | T 2.40 | (0.10kg)
LT AEAFIAR Y = 2T L FK ke 0.61
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X BATHE R W 1,150 ke/m3
p WV | ESL | =1 | BEN \
Yavin = %
S () | ) | G | (k) "=
DI G S 0. 00040 T. 10 0. 10 0.051 |GE=10cm& B
Q|G 0. 00030 1.30 0.10 0. 045 U
2.40 0. 096
RN = WV X RSL X GESH X FCIRRE RN
2. =L (REIRIR Y =27 LK)
X HAZIRREE SR W 1,700 kg/m3 iEB 50 mm  JESH 3 mm
p WD | ESL | Bx0 | BEN \
Yorian == %
S () | ) | o | () "=
D|A2fEH 0. 05 1. 10 0. 003 0. 281
Q|G 0.05 1.30 0.003 0.332
2. 40 0.613

HEM = fEB X R&L X JESH X HAAFEEEW




[ HnrimfE ]

& £ G F O O(PEKPERET)

T Ff o Rl WK - Tk BT ¥ & i G
BEAHEE T FaV 1. 00 (N=41% FT)
Ny Fd—=ANv|2r7 ) —F m 9.92

&) o .
L0 -pLT M= 7 ) —h m3 0.13
e 1A a7 ) — K m3 0.13
o7 Y — | [24-12-25BB m3 0.12
Tl e m2 0. 50
SUS304, [1100 X 50X 850, TSDR-YD301
HrEAt [1100 X 100 X 407 & 1 R
Bt 4 B SUS #H 4 [BNT7 v h—Ete
HEKEERE  |0100X50, [1100X 100 m 5.03
HEACE T 2 1.0
=/u faran
%&?ﬁm B 10100% 50 m 0. 90
BERR A4 L4y 11100 X 50 kg 4
HEK T T & 1.0
AE A
S m3 0. 007
i m2 0.016




HE K Bt T N

L Hya—An(ar s )—F)

Bl (0.25X240.30) + (0. 29X 2+0. 30) = 1.68 m
o 0.40%2 = 0.80 m
> = 2.48 m
X4 = 9.92 m
2. WEEW E Y Z b UL (ERRas))-})
1/2% (0. 27+0. 29) X 0. 40X 0. 30 X4 = 0.134 m3
3. BEM (=7 U — )
= 0.134 m3
4., @7 J— | (24-12-25BB)
1/2x (0. 2740.29) X 0. 40Xx0. 30 = 0.034 m3
-0. 10X 0. 10X 0. 407 = -0.004 m3
> = 0.030 m3
X4 = 0.120 m3
5. TP
0. 25X 0. 30-0. 08 X 0. 10 = 0.067 m2
0.29X%0. 30-0. 10X 0. 29 = 0.058 m2
> = 0.125 m2
X4 = 0.500 m2
6. HEKHE
[1-100 X 50 = 0.850 m
J-100X 100 = 0.407 m = 4 H
7. Buft4E (SUS BNT > 1 —4&e)
= 4 #A
8. HEAKERE
(0. 85+0. 407) X 4 = 5.028 m



BERRHE KB E
1. BERRHEKE BT (0-100 X 50)

(0.104+0.05) X2X3 = 0.90 m

2. BERREA L 455 ((D-100 X 50)

0.2X3X7.01kg/m = 4 kg

BERRHEKE 3 T
1. JELHEE L& v
0. 0936 X0. 0436 X0.40X4 = 0.007 m3
2. B P

0. 0936 X 0. 0436 X4 = 0.016 m2
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& OB K OBHERAT)

T FE &Rl WK - Tk BT ¥ & i =
FRAHRA T FaV 1.0
BRGREARE T | P m2 0.80 | HEAMERE T

AEkES m2 0.50 | KPR E T




1. BRAERA T

PR E T T &
0. 40X 0. 50 X 4 = 0.80 m2

AP E T AR &
0. 25X0. 50X 4

0.50 m2
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B & £ F & (REx L)
T ool Bk - ST | HZ] K = i
Rz T E20 1.0
s RS i1 )2 5 m2 8. 80




L RS5T (Em e ss)

B E e
4. 00 X 1.10 = 4,40 m2
TSR e

4.00 X 1. 10 4.40 m2

> = 8.80 m2



